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1 Introduction
In last several meetings, co-existence scenarios and simulation assumptions were discussed and four cases were agreed and captured in [1]. This contribution provides co-existence simulation results for case 1.
2 Discussion
Co-existence simulation results for case 1 of V2V UE to LTE BS were provided in Table 1, Table 2, Table 3 and Table 4. The throughput loss for legacy LTE Base station is the throughput with V2V aggressor compared with the throughput without any aggressor:
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Figure 1: 190 Byte packet size in Urban scenario with 15 or 60 km/h, and different LTE power control setting
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Figure 2: 300 Byte packet size in Urban scenario with 15 or 60 km/h, and different LTE power control setting
From the above simulation results, some observations can be derived as below:
· The throughput loss for the packet of 300 byte is worse than the packet of 190 byte because the packet of 300 byte needs more PRBs to transmission which will cause less average ACIR than 190 byte case.
· The throughput loss for PC set 2 is worse than that for PC set 1 because for PC set 2 the LTE UE transmission power is lower so it is easy to be interfered.
· The throughput loss for UEs with 15km/h is worse than UEs with 60km/h because the vehicle density for 15km/h is much higher which means more interfering UEs exist in the network.
If the criteria of less than 5% throughput loss is still accepted by LTE system, we can observe that even for ACIR=40dBc, the V2V UEs are still bad neighbours to LTE system which will cause LTE BS throughput loss larger than 5% in some cases. For ACIR=30dBc which is the current LTE requirement, only very few cases (60km/h, PC1) can pass the co-existence criteria.
Conclusion
This contribution provides co-existence simulation results for V2V to LTE co-existence scenario. And from the results, conclusions can be made as:
If the criteria of less than 5% throughput loss is still accepted by LTE system, 
· Even for ACIR=40dBc, the V2V UEs are still bad neighbours to LTE system which can cause LTE BS throughput loss larger than 5% in some cases. 
· For ACIR=30dBc which is the current LTE requirement, only very few cases (60km/h, PC1) can pass the co-existence criteria.
·  If the V2V UE adopts the power control, it will reduce the interference to neighbour LTE BS, but this will also influence the performance of V2Vsystem. How to balance the interference problem and performance requirement may need further study
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5.4.3
Simulation Results

5.4.3.1
V2V Communications in 2GHz


5.4.3.1.1
Case1: V2V UE to LTE BS
5.4.3.1.1.1 Simulation results from Source 1
Co-existence simulation results were provided in below tables. The throughput loss for legacy LTE Base station is the throughput with V2V aggressor compared with the throughput without any aggressor.
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Figure 5.4.3.1.1.1-1: 190 Byte packet size in Urban scenario with 15 or 60 km/h, and different LTE power control setting
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Figure 5.4.3.1.1.1-2: 300 Byte packet size in Urban scenario with 15 or 60 km/h, and different LTE power control setting
5.4.3.1.1.x Conclusion
From the above simulation results, some observations can be derived as below:
· The throughput loss for the packet of 300 byte is worse than the packet of 190 byte because the packet of 300 byte needs more PRBs to transmission which will cause less average ACIR than 190 byte case.
· The throughput loss for PC set 2 is worse than that for PC set 1 because for PC set 2 the LTE UE transmission power is lower so it is easy to be interfered.
· The throughput loss for UEs with 15km/h is worse than UEs with 60km/h because the vehicle density for 15km/h is much higher which means more interfering UEs exist in the network.
The criterion of less than 5% throughput loss is still accepted by LTE system, and:
1. For ACIR=40dBc, the V2V UEs are still bad neighbours to LTE system which will cause LTE BS throughput loss larger than 5% in some cases. 
2. For ACIR=30dBc which is the current LTE requirement, only very few cases (60km/h, PC1) can pass the co-existence criteria.
5.4.3.1.2
Case2: LTE UE to V2V UE
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